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Chapter 4   Risk-Handling Techniques: Loss Control, Risk Transfer, and Loss Financing

1) Risk managers are concerned with policy limits and deductible size contained in insurance contracts because:

A) an increased deductible amount increases the policy's premium

B) the policy limit and the deductible are the only determinants of whether the policy will pay the claim

C) they determine how much of the exposure the insured retains and transfers

D) premiums set by policy limit and deductible are not tax deductible whereas uninsured losses are deductible

2) Which of the following is true concerning the corporate taxation of insurance premiums and the treatment of uninsured losses?

A) Both premiums and expected losses are deductible at the beginning of the year.

B) Uninsured losses are deductible only when they occur and premiums are deductible in the year paid.

C) Since payments for insured losses are 100% tax deductible, commercial insurance is economically inefficient.

D) Losses paid under the deductible amount are not tax deductible because the insured assumed the losses.

3) If an individual causes a loss intentionally, we would say that person is a: 

A) careful person

B) physical hazard

C) moral hazard

D) risk manager

4) Risk avoidance is the best risk management tool when the change of loss is ________ and the potential severity of loss is ________. 

A) low, low

B) high, high

C) low, high

D) high, low

5) Taking a defensive driving course is an example of which one of the following:

A) moral hazard

B) risk transfer

C) loss avoidance

D) loss prevention

6) Risk Retention is not a good idea if:

A) the risk is unimportant

B) you did not identify the risk

C) the frequency is so low it almost will never happen

D) the exposure is potentially catastrophic

7) Risk assumption is the best risk management tool when the change of loss is ________ and the potential severity of loss is ________. 

A) low, low

B) high, high

C) low, high

D) high, low

8) All of the following are true about OSHA, except: 

A) that it promotes a safe working environment for all U.S. workers

B) that it encourages employers to remove all recognized hazards from the work environment

C) that it provides for heavy fines for employer noncompliance with standards

D) that it is directly responsible for reducing worker turnover 

9) All of the following are examples of loss reduction, except:

A) improved lighting in the work place

B) fire walls

C) salvage operations

D) training replacement personnel

10) All of the following are ways of managing risk mentioned in the text, except:

A) competitive bidding

B) transfer

C) avoidance

D) assumption

11) Which tools are used by most individuals for handling the loss exposure of physical damage to their vehicles caused by collisions?

I.
Avoidance

II.
Control

III.
Retention

IV.
Insurance

A) II and IV only

B) I, II, and III only

C) II, III and IV only

D) I, II, III, and IV

12) From the standpoint of the insured, deductibles in insurance contracts are a form of:

A) risk transfer

B) loss control

C) risk retention

D) risk avoidance

13) Assume that you own a fireworks manufacturing plant. A prospective insurer indicates it will not insure your property unless you take some loss prevention measures. Which of the following is the best loss prevention measure?

A) Maintain your own fire department

B) Create two identical facilities, each having half the capacity of the original building

C) Put smoke alarms and fire sprinklers in each building

D) Do not mix ingredients until the last possible moment

14) An automobile's airbag is primarily there for: 

A) loss prevention

B) loss avoidance

C) loss reduction

D) risk assumption

15) Assume that you own a house in rural Arkansas with a pier foundation (concrete blocks on each of the four corners). Your prospective insurance company indicates that they will not insure your home unless you take some loss prevention steps. Which of the following steps is the best loss prevention measure?

A) Join a local volunteer fire department

B) Put fire extinguishers on the front porch, bathroom, and kitchen

C) Enclose the open foundation with bricks to stop trash and leaves from accumulating

D) Put a smoke alarm in every room 

16) Jim S. buys a $50,000 car. Rather than buying insurance on the car, he sets aside $30,000 in a savings account to cover possible losses due to an accident. He is:

A) self-insuring

B) a moral hazard

C) assuming risk

D) decreasing his risk of physical loss

17) Assume you own an antique car. Your prospective insurance company indicates that they will not insure your car unless you take some loss prevention steps to avoid theft. Which of the following steps is the best loss prevention measure with regards to theft?

A) Always keep a canvas cover over the car to hide it.

B) Never drive in rainy weather.

C) Never drive in big cities.

D) Store the car in a closed and locked garage. 

18) Small firms:

A) will be unable to get insurance

B) are more likely to self-insure

C) face more moral hazard compared with larger firms

D) are more likely to be dependent on insurance compared with large firms

19) Which of the following statements about the loss control is not correct?

A) Loss control is also known as risk control.

B) Loss control can be classified into two categories, namely loss prevention and loss reduction.

C) A number of activities associated with loss control simultaneously reduce both loss frequency as well as severity.

D) Risk transfer is an example of loss control. 

20) Which of the following are examples of loss reduction techniques?

I.
Wearing your seat belt while driving your car

II.
Polio vaccinations

III.
Keeping poisons locked up and out of reach of small children

IV.
Wearing a helmet while skateboarding

A) I and III only

B) I, II, and III only

C) I and IV only

D) I, II, III, and IV

21) "OSHA" stands for: 

A) Occupational Safety Hearings Administration 

B) Occupational Servants and Homemakers Act

C) Obligatory Standards for Health Act

D) Occupational Safety and Health Act

22) Which of the following statements about loss prevention is correct?

A) All losses can be prevented.

B) Some losses cannot be prevented.

C) Loss prevention activities aim to minimize the impact of losses.

D) All of the above are correct.

23) Which of the following pools would be the best subject for a fully-funded self-insurance arrangement?

A) Automobile physical damage coverage for a national rental car chain, with 100 locations and approximately 3,000 automobiles of similar value at each location

B) Employment practices liability coverage for a petroleum refinery located in Texas

C) Medical malpractice liability coverage for all doctors and nurses employed by a group of 3 hospitals in Florida

D) $50,000 of life insurance on every employee of a life insurance company located in New York, with no physical exam required to obtain insurance

24) Which of the following statements about duplication and physical separation is not correct?

A) Duplication is closely related to physical separation. 

B) Like duplication, physical separation involves multiple and similar copies.

C) When a company engages in physical separation, it cannot also engage in duplication.

D) Both duplication and physical separation aim to minimize supply-chain interruptions.

25) Which of the following statements about duplication is correct?

A) Duplication is in general too costly to be effective.

B) Duplication is in general effective when the cost is low. 

C) Duplication stimulates supply-chain interruptions.

D) All of the above are correct.

26) All of the following are true about the CPSC, except: 
A) that it promotes companies to sell safe products

B) that it requires manufacturers and retailers to notify it of any hazardous products

C) that it provides for heavy fines for the noncompliance of firms with standards

D) that it is directly responsible for increasing the sale of more products 

27) Which of the following statements about risk-bearing financial institutions is not correct?

A) They are a good example of creating self-insurance by the customers of these institutions.

B) They allow its customers to transfer their financial risks to the institution for a fee. 

C) They capitalize on their size to mitigate risks.

D) They finance the cost of any losses by the fees they get from their customers.

28) Which of the following statements about hold-harmless agreements is correct?

A) Hold-harmless agreements create moral hazard.

B) In a hold-harmless agreement, a party assumes a second party's financial responsibility in the case of a loss.

C) Hold-harmless agreements are created after a loss occurs.

D) All of the above are incorrect.

29) Which of the following statements about limited liability is correct?

A) It is only provided to the owners of certain businesses.

B) Creditors cannot attach a claim to the personal assets of the owners of a limited liability company.

C) There are now more organizational forms of business with limited liability characteristics than in the past. 

D) All of the above are correct.

30) All of the following are examples of loss financing, except: 

A) raising capital through selling stocks and bonds on the capital market

B) insurance

C) hedging

D) risk retention

31) If insurers have insufficient pricing information available for a particular exposure:

A) they go bankrupt

B) they will need to create a larger risk pool 

C) they will probably be unwilling to provide insurance for that particular loss exposure

D) they will assume more risk

32) Which of the following statements about risk assumption is not correct?

A) Risk assumption is also known as risk retention.

B) Risk assumption can be transferred through hedging. 

C) Larger firms have a better ability to assume risk.

D) All of the above are correct.

33) The size of a firm:

A) has no impact on the ability to retain risk

B) is proportional to the amount of risk it is willing to take

C) determines whether a firm can hedge its risk

D) has an impact on its ability to absorb losses

34) Which of the following statements about captive insurers is not correct?

A) They are typically a subsidiary of a larger firm or firms.

B) They are typically located in places where insurance regulation is less restrictive. 

C) They capitalize on their size to mitigate risks.

D) They are typically located in places where insurance regulation is less costly. 

35) All of the following are true about captive insurers, except: 
A) that they are located in locations like Bermuda 

B) that claims-settlement often take longer

C) that the parent company or companies save on overhead and profits that they would otherwise pay to third insurance companies

D) that the parent company or companies are in some cases allowed to deduct their premiums from their tax liability 

36) It is a fact that supply chains have become increasingly more complicated in the past decade, with products moving across the globe. This means that:

A) loss reduction measures also have become more important 

B) there has been a growth of captive insurers

C) duplication as a risk mitigant has also become more important 

D) hold-harmless agreements have become less relevant

37) All of the following are ways of transferring risk mentioned in the text, except: 

A) competitive bidding

B) exculpatory clauses

C) hold-harmless agreements

D) creating an LLP or LLC

38) Which of the following statements about risk pooling as a form of insurance is correct?

A) Lending institutions forcing consumers to buy insurance as a condition for financing is not an example of risk pooling.

B) Captive insurers diminish the need for risk pooling.

C) Duplication is a form of risk pooling.

D) In some cases the law requires firms to create them.

39) Lack of supply of insurance: 

A) can be the result of inefficient insurance regulation

B) is a reason why companies now get their insurance on Bermuda or the Cayman Islands

C) is no problem when it comes to risk against earthquakes

D) is no problem when it comes to private unemployment insurance

40) Which of the following types of risk lend themselves well to self-insurance?

A) Car insurance and earthquake insurance

B) Workers' compensation and car insurance

C) Workers' compensation and health insurance

D) Health insurance and earthquake insurance

41) Which of the following is not a form of internal loss-financing technique?

A) Hedging

B) Risk retention

C) Self-insurance

D) Captive insurance

42) Which of the following statements about external and internal loss-financing techniques is not correct?

A) Self-insurance is a form of internal loss-financing.

B) Risk retention is a form of internal loss-financing.

C) Insurance is a form of external loss-financing.

D) Captive insurance is a form of external loss-financing.

43) Funded risk assumption:

A) is typically done through a subsidiary on Bermuda or the Cayman Islands

B) increases moral hazard for the firm

C) is when a firm assumes by creating a liquid or near liquid cash reserve

D) is a form of risk transfer

44) Which of the following is not a federal regulation or agency?

A) EUREX

B) OSHA

C) CPSC

D) EPA

45) The transfer/retention risk management decision is unimportant and therefore risk managers should not waste their time on the decision.

46) Loss prevention activities, if successful, may increase risk. 

47) Insurance increases moral hazard.

48) When the chance of loss is great and the potential for loss severity is also very high, insurance is the best approach to the risk management problem.

49) OSHA is a federal loss prevention law.

50) Many captive insurance companies are located in states where insurance regulation is very strict.

51) Increasing litigation risk is one of the main drivers of the growth of organizational forms of business with limited liability characteristics.

52) Exculpatory clauses are clauses in business contracts that transfer risk between contracting parties.

53) Loss exposures which are both high-frequency and high-severity in nature are best handled by assumption.

54) There are no clear rules for choosing an appropriate risk-handling technique.

55) The insurer's efficiency and underwriting practices are much more important to the consumer than where the insurer is located, for example Bermuda or the Cayman Islands.

56) For centuries consumers have relied upon insurance to pay for unexpected losses.

57) What are the main considerations in determining the proper mix of retention and transfer in handling potential loss exposures?

58) Explain the concept of self-insurance. Why is all self-insurance assumption, but not all assumption self-insurance?

59) Discuss the concept of funded risk assumption.

60) How do deductibles affect moral hazard?

61) Explain the difference between loss prevention versus loss reduction.
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Chapter 5   Risk-Handling Techniques: Diversification and Hedging

1) Which of the following statements about Enterprise Risk Management is incorrect?

A) It deals with a limited number of techniques.

B) It has expanded the responsibilities of the corporate risk manager.

C) It deals with pure risks.

D) It deals with speculative risks.

2) Hedging is:

A) selling two investments that are both expected to lose

B) buying two investments that are both expected to make a profit

C) taking two positions whose gains and losses will offset each other

D) buying insurance against a fortuitous loss

3) Output price risk is:

A) when a change in the commodity market unfavorably affects the price at which a firm can buy their raw materials

B) when a change in the commodity market unfavorably affects the price at which a firm can sell their products 

C) taking two positions whose gains and losses will offset each other

D) when a company sells its products abroad and there is an unfavorable exchange rate movement

4) Interest rate risk arises from changes in:

A) currency discount rates

B) the value of fixed income securities because of changes in interest rates

C) interest rates caused solely by inflation

D) the value of currency relative to another currency

5) A financial instrument whose value is based on an underlying security or commodity is called a/an:

A) insurance contract

B) employment contract

C) enterprise contract

D) derivative security

6) To lessen the impact of catastrophic losses, many insurers use all the following except:

A) contingent surplus notes

B) catastrophe bonds

C) forward purchase options

D) exchange traded options

7) Which of the following statements about bearing risk collectively is correct?

A) Bearing risk collectively means that the risk is spread over a larger group.

B) Bearing risk collectively results in a more cost-efficient outcome. 

C) Bearing risk collectively is an application of risk diversification.

D) All of the above are correct.

8) Which of the following statements about bearing risk collectively is correct?

A) Bearing risk collectively is not very cost-efficient. 

B) Bearing risk collectively only works for small groups. 

C) Bearing risk collectively is bearing risk as part of a large group.

D) All of the above are correct.

9) Bearing risk collectively is:

A) not very cost-efficient 

B) more effective for larger groups 

C) not reducing risk

D) only effective when all group members experience the same negative consequences simultaneously

10) Which of the following is not an example of a financial institution that applies collective risk bearing?

A) Swiss banks

B) Mutual funds 

C) Pension plans

D) Insurance companies

11) Which of the following statements about risk-bearing financial institutions is incorrect?

A) An example of a risk-bearing financial institution is a mutual fund.

B) Risk-bearing financial institutions concentrate their investments in a limited number of assets.

C) Risk-bearing financial institutions assume the risks of their customers. 

D) All of the above are incorrect.

12) Which of the following statements about diversification is incorrect?

A) Risk-bearing financial institutions employ diversification.

B) Diversification reduces risk.

C) Mutual funds typically have a diversified portfolio.

D) Diversification requires that all investments have the same risk/return characteristics.

13) Calculate the Standard Deviation of the following investment:

State of the Economy 
Probability
Outcome

	Recession
	25%
	-5%

	Stability
	50%
	6%

	Boom
	25%
	11%


The expected return for this investment is 4.5% 

A) 5.85%

B) 0.34%

C) 8.19%

D) 14.43%

14) Calculate the Standard Deviation of the following investment:

State of the Economy 
Probability
Outcome

	Recession
	30%
	-7%

	Stability
	40%
	8%

	Boom
	30%
	13%


The expected return for this investment is 5% 

A) 0.66%

B) 5.77%

C) 8.12%

D) 10.41%

15) Calculate the Standard Deviation of the following investment:

State of the Economy 
Probability
Outcome

	Recession
	15%
	-2%

	Stability
	70%
	4%

	Boom
	15%
	9%


A) 31.75%

B) 5.51%

C) 3.02%

D) 0.09%

16) Calculate the Standard Deviation of the following investment:

State of the Economy 
Probability
Outcome

	Recession
	20%
	-3%

	Stability
	60%
	4%

	Boom
	20%
	10%


A) 0.17%

B) 4.12%

C) 6.51%

D) 23.09%

17) Which of the following statements about the covariance is correct?

A) The covariance measures risk. 

B) The covariance is a number between -1 and +1. 

C) The covariance measures how two variables move relative to each other.

D) All of the above are correct.

18) Which of the following statements about the correlation coefficient is correct?

A) The correlation coefficient measures risk. 

B) The correlation coefficient is a number between -1 and +1. 

C) The correlation coefficient measures how two variables move relative to each other.

D) All of the above are correct.

19) What is the correlation coefficient between the following two investments?

Year 
Return A
Return B


	1
	2%
	-3%

	2
	2%
	5%

	3
	2%
	-6%

	4
	2%
	2%

	5
	2%
	8%


A) Positive

B) Negative

C) Zero

D) Unable to determine without knowing the covariance

20) What is the correlation coefficient between the following two investments?

Year 
Return A
Return B


	1
	-4%
	-3%

	2
	2%
	5%

	3
	-3%
	-6%

	4
	1%
	2%

	5
	4%
	8%


A) Positive

B) Negative

C) Zero

D) Unable to determine without knowing the covariance

21) What is the correlation coefficient between the following two investments?

Year 
Return A
Return B


	1
	2%
	-3%

	2
	-6%
	5%

	3
	4%
	-6%

	4
	-1%
	2%

	5
	-9%
	8%


A) Positive

B) Negative

C) Zero

D) Unable to determine without knowing the covariance

22) If the covariance between two stocks is 115 and the standard deviation of both stocks are 17 and -8 respectively, what is the Correlation Coefficient between the two stocks?

A) 0.18

B) 0.85

C) -0.85

D) There is not enough information to calculate the Correlation Coefficient.

23) If the covariance between two stocks is 235 and the standard deviation of both stocks are 45 and 22 respectively, what is the Correlation Coefficient between the two stocks?

A) 0.24

B) 0.33

C) 0.76

D) There is not enough information to calculate the Correlation Coefficient.

24) If two random variables are uncorrelated:

A) their correlation coefficient cannot be calculated

B) their correlation coefficient is zero

C) their correlation coefficient depends on the covariance

D) All of the above are incorrect.

25) Which of the following statements about correlation is incorrect?

A) If two variables are statistically independent of each other, their correlation coefficient is zero. 

B) Negatively correlated investments offer the best opportunities for diversification.

C) If two investments are perfectly correlated, their correlation coefficient is +1.

D) The risk of fire is positively correlated with the risk of traffic accidents.

26) Can risk be completely eliminated?

A) No, never

B) Yes, as long as the exposure units are positively correlated

C) Yes, as long as the exposure units are not correlated and enough are in the pool

D) Yes, as long as the correlation coefficient is 0.1

27) From an insurance viewpoint, is a legal ruling that applies to many business owners a beneficial one? 

A) No, because it creates a higher correlation coefficient among those business owners

B) No, because it creates uncertainty for those business owners

C) Yes, as long as the ruling applies to all business owners 

D) Yes, as long as the ruling applies to enough business owners 

28) Which of the following is not an advantage of risk-bearing financial institutions?

A) They provide diversification benefits. 

B) The can save on investments in financial infrastructure.

C) They provide administrative services. 

D) They provide professional management.

29) Which of the following is not a risk that can be hedged?

A) Flood

B) Commodity prices

C) Interest rate movements

D) Exchange rate movements

30) A futures contract is:

A) selling two investments that are both expected to lose in the future

B) buying two investments that are both expected to make a profit in the future

C) taking two positions whose gains and losses will offset each other

D) an agreement to buy or sell a commodity or financial asset at a specified price on a later date 

31) What is the essential difference between an option and a futures contract?

A) An option transaction occurs now, while a futures contract takes place in the future.

B) An option transaction is a right to transact for the option holder, while a futures contract is an obligation to transact in the future.

C) An option transaction is not standardized, while a futures contract is standardized.

D) An option transaction deals with financial assets, while a futures contract deals with commodities.

32) Which of the following is not an example of a derivative security?

A) Futures contract

B) Forward contract

C) Hedge

D) Option

33) Which of the following statements about option contracts is correct?

A) Option contracts can create a legal right to buy a commodity.

B) Option contracts can create a legal right to sell a financial asset.

C) The option holder has the right to exercise the option.

D) All of the above are correct.

34) Which of the following statements about option contracts is not correct?

A) The option writer has the right to exercise the option.

B) Option contracts can create a legal right to buy or sell a financial asset.

C) The option holder has the right to exercise the option.

D) All of the above are correct.

35) What is the essential difference between a call option and a put option?

A) A call option transaction occurs now, while a put option transaction takes place in the future.

B) An call option transaction is the right to purchase the underlying asset, while a put option is the right to sell the underlying asset.

C) An call option transaction is not standardized, while put option transaction is standardized.

D) An call option transaction deals with financial assets, while a put option transaction deals with commodities.

36) Which of the following statements about put options is correct?

A) If the option writer exercises the put option, the option holder has to sell the underlying asset to him or her.

B) If the option writer exercises the put option, the option holder has to buy the underlying asset from him or her.

C) If the option holder exercises the put option, the option writer has to buy the underlying asset from him or her.

D) If the option holder exercises the put option, the option writer has to sell the underlying asset to him or her.

37) Which of the following statements about the counterparty to a risk management derivatives contract is correct?

A) The counterparty has the same expectations about future price movements as the risk manager.

B) The counterparty charges a fixed fee of $5 per contract.

C) The counterparty is in all likelihood a speculator.

D) All of the above are correct.

38) Why are derivatives effective instruments for hedging?

A) They are negatively correlated with the firm's underlying risk.

B) There are so many of them.

C) They enhance the risk pool.

D) All of the above are correct.

39) Which of the following statements about the bundling risks into portfolios is not correct?

A) Due to the randomness of business activity bundling risks into portfolios will be reducing risk.

B) Natural diversification occurs across uncorrelated risks that are bundled into a portfolio.

C) Bundling risk into a portfolio only reduces risk if uncorrelated and/or negatively correlated exposures are included.

D) The best reduction in risk is accomplished by including negatively correlated exposures into a portfolio.

40) Is there a reason why pure risk events, like a hurricane or earthquake, could be bundled into a more general risk portfolio?

A) No, pure risks have too devastating an effect.

B) Yes, since they are negatively correlated with other risk events.

C) No, they are too highly correlated with other risk events.

D) Yes, because an insurer can ask a very high premium for including it in the general risk portfolio.

41) Which of the following is not correct about hedging speculators?

A) They charge a fee for their services.

B) They are the counterparty to a risk management derivatives contract.

C) They take risks which they mitigate by having superior knowledge of the market they trade in. 

D) They provide professional management.

42) Currency risk is risk associated with the fluctuation of currency values relative to another currency.

43) A traded option contract creates a legal right to buy or sell assets at a set price before a certain date.

44) The covariance shows the risk of a single variable.

45) One of the benefits of bearing risk collectively is that the group can better afford to obtain better data compared to one company alone.

46) The correlation coefficient is calculated by taking the square root of the variance.

47) As long as their correlation coefficient is less than 1, risk is being reduced by adding investments to the pool.

48) When two investments have a negative correlation coefficient it means that they are bad investments.

49) Exchange rate losses arise when the value of the domestic currency falls relative to foreign currencies.

50) Input price risk and output price risk are both a form of commodity price risk.

51) When the option holder decides to exercise the option, the option writer has the option to not fulfill the request.

52) The core concept underlying the risk reducing effects of diversification and hedging is the correlation coefficient.

53) What are the generic tools used to deal with the exposures in the area of financial risk management?

54) Explain the importance of the correlation coefficient for diversification.

55) Explain when and why a call option has value.

56) Explain who the counterparty is to a risk management derivatives contract that an insurance company would engage in and what his or her motives are to engage in the derivatives contract.
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Chapter 6   Fundamentals of Insurance

1) The insurance mechanism:

A) redistributes the cost of insured losses

B) intends to make profits for social insurance policies

C) only applies to private insurance companies

D) is defined by law

2) The scope of insurance:

A) limits the tax-deductibility of premiums

B) is limited to social insurance

C) is not clearly defined

D) does not include weddings

3) The Financial Definition of insurance:

A) is that insurance is a contract in which one party agrees to compensate another party for losses covered by the contract

B) is that insurance is a financial agreement that transfers the risk of insured losses to a risk pool by an insurer

C) differs from state to state

D) is that it is any pool for which the insurance mechanism works

4) The Legal Definition of insurance:

A) is that insurance is a contract in which one party agrees to compensate another party for losses covered by the contract

B) is that insurance is a financial agreement that transfers the risk of insured losses to a risk pool by an insurer

C) differs from state to state

D) originally comes from tort law

5)  Legally insurance is a branch of: 

A) contract law

B) tort law

C) Neither A nor B is correct.

D) Both A and B are correct.

6) Participants in the private insurance market include all of the following except:

A) insurance buyers

B) insurance companies

C) insurance regulators

D) the FDIC

7) Which of the following is not provided on the private insurance market?

A) Bank deposit insurance

B) Life insurance

C) Health insurance

D) Commercial lines insurance

8) Which of the following is not a type of property and liability insurance?

A) Boiler and machinery insurance

B) Personal lines insurance

C) Health insurance

D) Commercial lines insurance

9) Which of the following is not a type of property and liability insurance?

A) Bank deposit insurance

B) Commercial lines insurance

C) Business interruption coverage

D) Wedding insurance

10) Which of the following statements is not correct about the insurance premium?

A) The forecast of policyholders' losses is the starting point for the calculation of the risk premium for an insurance policy.

B) The fair rate of return, which is a part of the insurance premium, is governed by law.

C) Loading expenses increases the insurance premium.

D) Most investment income of insurance companies comes from low risk investments, which reduces the insurance premium. 

11) Which of the following statements is correct about the fair rate of return for insurance companies?

A) The fair rate of return is measured using the expense ratio.

B) The fair rate of return is governed by law.

C) The fair rate of return reduces the insurance premiums charged by insurance companies.

D) The fair rate of return compensates the insurance companies for the risk that they take.

12) Which of the following statements is correct about the loading expenses for insurance companies?

A) The loading expenses are measured using the expense ratio.

B) The loading expenses are governed by law.

C) The loading expenses reduce the insurance premiums charged by insurance companies.

D) The loading expenses compensate the insurance companies for the risk that they take.

13) Which of the following is the correct calculation of the insurance premium? 

A) Insured Loss Claims + Loading Expenses + Fair Rate of Return - Investment Income

B) Insured Loss Claims + Loading Expenses + Investment Income - Fair Rate of Return 

C) Insured Loss Claims - Loading Expenses - Investment Income + Fair Rate of Return 

D) Insured Loss Claims - Loading Expenses + Fair Rate of Return + Investment Income

14) The efficient insurance market requires all of the following conditions except:

A) numerous sellers and buyers

B) well-informed consumers

C) numerous purchase substitutes (homogeneity)

D) a government subsidy for lower-income citizens

15) Smoking cigarettes is an example of:

A) moral hazard

B) peril

C) speculate risk

D) none of the above

16) It may be correctly claimed that insurers usually do not pay for losses because:

A) it is the insured's money that is used to pay the claims

B) most insurers do not pay claims until the insured sues them

C) almost all claims are caused by fraud

D) insurers estimate claims actuarially in advance in order to avoid payments

17) Which of the following is a true statement?

A) Insurers are significant financial intermediaries in the U.S. economy.

B) Property insurers are prohibited from insuring commercial real estate.

C) The insurance companies in the U.S. are estimated to be very profitable.

D) Both A and C above are true statements.

18) All of the following are perils except:

A) heart attack

B) theft

C) forgery and embezzlement

D) incorrect instructions on the label of a pesticide

19) Proximate cause means:

A) the first insured peril in a chain of events leading to a loss

B) the event nearest the peril in time

C) the event nearest the peril in space

D) the event nearest the loss in time and space

20) All of the following are costs to society arising from an insurance system's operation except:

A) payments for losses caused by fraudulent claims

B) payments for losses caused by exaggerated claims

C) use of land, labor and capital to operate the insurance companies

D) payments for losses caused by windstorms such as tornadoes

21) The aggregate increased costs to society of operating the insurance mechanism includes all of the following except:

A) cost of operating the insurance company

B) losses due to uninsured flood losses

C) the occurrence of intentional losses to collect insurance

D) the tendency of insureds to exaggerate the amount of actual losses in the claim process

22) Which of the following is not a direct social benefit of the insurance mechanism?

A) Increased business and social stability

B) Better allocation of society's resources

C) Better choice of optimum size of business operations

D) Lower federal and state income taxes

23) A difference between a contract issued on a "named peril" basis versus an "open peril" or "all-risk" basis is:

A) the "named peril" contract usually covers more perils

B) the "named peril" contract is usually more expensive than the "open peril" contract

C) in the "named peril" contract the insured must prove the peril is covered where in the "open peril" contract the burden of proof is on the insurer to show no coverage

24) Which of the following factors is not considered when an insurance rate or premium is calculated?

A) The cost of the actual losses

B) The cost of the insurance salesman and other company expenses

C) Investment earnings on prepaid premiums

D) The decision by the U.S. Supreme Court in 1943

25) Bodacious D, a famous singer, is performing at a concert. He does not have his body guards and security team present for the concert. A crazed fan runs up on stage, declares her love for Bodacious D, and throws herself at him. Bodacious D lands on the floor, and breaks his back. Which of these is the HAZARD(S), and which is the PERIL?

A) The peril is not having a body guard present; the hazard is the crazed fan.

B) The peril is being attacked by the fan, and the hazard is not having a body guard present.

C) The peril is not having a body guard present, and the hazard is being pushed to the floor.

D) The peril is both the crazed fan and the lack of security; there is no hazard in this case.

26) Under an open perils insurance policy:

A) covered perils are spelled out, usually using a numbered list

B) any piece of property not excluded is covered

C) absolutely all risks of losses are covered, those having an illegal purpose

D) all perils not excluded are covered

27) If insurance did not exist in the United States, which of the following might reasonably be expected to happen?

A) Banks would lower their interest rates on home mortgages and auto loans.

B) Moral hazards would decrease.

C) The occurrence of perils would decrease.

D) In general, only large businesses would be able to survive.

28) If insurance did not exist in the United States, which of the following might reasonably be expected to happen?

A) Banks would lower their interest rates on car loans.

B) Moral hazards would increase.

C) The occurrence of perils would decrease.

D) In general, only small businesses would be able to survive.

29) Drinking a lot of alcohol before swimming could cause a person to drown. In this context, which of the following is the hazard?

A) Drinking too much

B) Knowing how to swim

C) Drowning

D) Death

30) Billy is driving to the beach for spring break. Before leaving on his trip, he takes some cold medicine that makes him sleepy. He falls asleep at the wheel and collides with another car on the highway and breaks his leg. In this context, which of the following is the hazard?

A) Spring break

B) Knowing how to drive

C) Taking the medicine

D) Broken leg

31) Warren is the president of The Huge Insurance Company. His Vice-President in charge of Finance comes to him one day and says "Warren, our combined ratio for the year is 105%." Warren replies, "Let's party!" Why isn't Warren upset about the high combined ratio?

A) The company probably made enough money on its investments to make up for the underwriting losses.

B) The company has actually made a 5% profit on its insurance business.

C) The combined ratio really isn't that important... it only measures the combined productivity of all regional offices the company owns.

D) The combined ratio is not an important indicator of underwriting results.

32) Rusty is the president of The Huge Insurance Company. His Vice-President in charge of Finance comes to him one day and says "Rusty, our combined ratio for the year is 95%." Rusty replies, "Wooo hooo, profit sharing bonuses for everyone!" Why isn't Rusty upset about this combined ratio?

A) The company probably made enough money on its investments to make up for the underwriting losses.

B) The company has actually made a profit on its insurance business.

C) Rusty is not very bright and doesn't understand what the combined ratio really means.

D) The combined ratio is not an important indicator of underwriting results.

33) Midlands Insurance has 100 policyholders. It expects that this year's losses for all of its policyholders will total $111,000. The predicted expenses of operating the insurance pool are $46,000, expected investment earnings are $20,000, and the actuary determines that there is no need to charge for a risk reserve this year. What should the premium for each of Midland's 100 policyholders be?

A)  $1,110

B)  $1,370

C)  $1,570

D)  $1,770

34) The combined ratio is:

A) the loss ratio plus the expense ratio

B) a measure of underwriting losses

C) the loss ratio divided by the expense ratio

D) a measure of capital gains and dividend returns

35) A burglar enters Marcia's home and steals $10,000 worth of appliances. Marcia tells the insurance company that the appliances were worth $20,000. This overstatement of the loss is an example of:

A) a morale hazard

B) a peril

C) insurance fraud

D) carelessness

36) The expense ratio equals:

A) total underwriting expenses divided by insured losses

B) net income divided by total expenses

C) total expenses divided by net income

D) total expenses divided by premiums written

37) From the insurance company's perspective, what is the difference between written premium and earned premium?

A) There is no difference; they are effectively the same thing.

B) Written premiums are those that belong to the insurer; earned premiums do not belong to the insurer.

C) Written premiums are the total premiums collected by the insurer; earned premiums are those that belong to the insurer.

D) Written premiums reflect the total amount of coverage provided to insureds; earned premiums reflect the net profit of the insurer.

38) All of the following are federally-sponsored insurance activities in the U.S. except:

A) Social Security

B) Unemployment Trust Fund

C) Federal Deposit Insurance Corporation

D) Universal Health for Children Organization

39) If you were a life insurance underwriter, which of the following underwriting criteria would you MOST prefer to use because of its reliability?

A) The applicant's response to the question Have you ever tested positive for HIV?

B) The applicant's response to the question Have you smoked any tobacco products within the last year?

C) The opinion of the patient's family doctor as to the overall health of the patient

D) The results of blood and urine tests taken by your company's own physicians

40) If you were an underwriter of personal auto insurance, which of the following underwriting criteria would you most prefer to use because of its incentive value?

A) Gender

B) Age

C) Driving record

D) Health

41) Which of the following reasons for canceling a wedding would likely not be covered by a typical wedding insurance policy?

A) Bride gets food poisoning

B) Church suffers a fire loss the day before the wedding

C) Ggroom decides he doesn't want to get married

D) Caterer is unable to provide food for the reception

42) Private insurance can be classified according to coverage. Distinct types mentioned in the text include all the following except:

A) Property

B) Commercial Lines

C) Auto

D) Submarine

43) The scope of the insurance market is clearly defined.

44) Life insurance provides protection from the peril of death.

45) Commercial Property Policies are a type of Personal Lines Insurance. 

46) The lack of annuities for life insurance is a serious problem in the U.S.

47) Marine insurance protects property in transit from damage. 

48) The loading expenses plus a fair rate of return minus any investment income is the starting point for the calculation of the risk premium for an insurance policy. 

49) Most investment income of insurance companies comes from medium to high risk investments in order to reduce the price of insurance as much as possible.

50) By applying the law of large numbers the insurance companies can predict the loading expenses. 

51) Change of Law insurance is a type of health insurance.

52) Explain briefly why insurance functions as an antimonopoly device.

53) An insurance contract creates duties for the insurer, but only the insured has contractual rights.

54)  Insurance increases the number of intentional losses that occur in society.

55) Discuss the building blocks of an insurance premium.

56) What is cash flow underwriting? Why is it a concern for insurance companies?

57) What are considered the benefits and the costs to society of operating an insurance mechanism?

58) What are the two broad categories of the private insurance industry? Break down the broad categories into their main parts.
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